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SOLVING A FORMULA Solve for the indicated variable.

@Arca ofa Tnanglg @Volumc of a Rectangular Prism
Solve for b: A = 717/1 Solve for h: V = Lwh

—b
REWRITING EQUATIONS Rewrite the equation so lhm yis n of x.
15.2v+y=5 16.3x + 5y =7 17.13 = 12x — 2y
18. 2x = =3y + 10 19.9 - y= I.5x 20. 1 +Ty=5x—2
2 Y-7=-2 224y +3= -5 23 -3+ dy-5=

24. 7x — 4x + 12 = 36 — 5y

5(_\'—31)=8-lt
ﬁ-15x=8-&x

S5y=§+I3x
J $+3x .

Y= ==

25 %(_\-+Zi+3.r=7x

27.4x—3y—-2)=15+y

3.13
5V EX

b gv\ %

=14

SOLVING EQUATIONS Solve the equation.

16.2c+7=15 17.3%x - 1=8 18.3-5=~1
19.5+13=20 20.30=]6+%x 21.6 =14 - 2x

2_ 3 _ _ 1
2.7+ %=1 23.3-5x=-6 24.22=18 — x
25.8x — 3x = 10 ~Tx+4x=9 27.x+5x—5=

.3r—7+r—5 3:

(x=2)=18

30.12(2-x) =6

SOLVING EQUATIONS Solve the equation if possible.

18. 4x + 27 = 3x 19. 12y + 21 = 9y 20. —2m = 16m — 9
21.4n= <281~ 3 22 12¢c ~ 4= 12 23. ~30d + 12 = 18d
24.6 — (51 =5r—3 25.65—11=—-25+5

-’
26.12p—7=-3p+8 @—12(]+4=8q—6q-2
28. —7+4m=6m—5 29. -7+ 1lg=9—5¢
30.8 —9r=2Ir—17 31.24 - 6r=6(4—r)
32.3(4 +4x) = 12x + 12 33. —4(x - 3) = -

34.10(—4 +y) =

‘Q(b 4) ~Tb= 5(3b ~ 7)
2b-36: lsb

35.8¢ — 4—5a—2)=12a
37. =2(6 — 10n) = 10(2n - 6)
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